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qPCRIENIERSBaFEEBR 5 i 2, HIPLABEMTICABREES, RPERRBSZBINTES;
60 m P .
3. qPCRIFE SR T:
— ACt [normalized ChIP] = (Ct [ChIP] — (Ct [Input] — Log2(lnput Dilution Factor))

= 404 il Input Dilution Factor (IDF) = (fraction of the Input chromatin saved) ~-—1
g - ¥ AARWMBURRFIES, Input Dilution Factor = 50, Hllog2(50) = 5. 644
g 20 AACt [ChIP/NIS] = AGCt [normalized ChIP] — ACt [IgG]
S Fold Enrichment = 2" (-AACt [ChIP/NIS])
= -
o 20
S . - _ 4, $l: ctchIP] = 25.751, Ct[IgG] = 27.697, Gt[lnput] = 22.903

0.5 ACt [normalized ChIP] = 25.751 — (22.903 - 5.644) = 8.492

0.0 T T T ACt [1gG] = 27.69 - (22.903 - 5.644) = 10. 431

sk 51¥2 5143 AACt [ChIP/NIS] = 8.492 - 10.431 = -1.939

Fold Enrichment = 271.939 = 3. 834

5. ChIP-seqZERBILIE N seqiREs -
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